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Unit 8 (Protecting our planet) 

Choose the correct answer from a , b , c , or d  

1- The verb (avoid) means to …………. from doing something . 
a. keep away              b. keep way            c. stay away           d. stay a way 

2- ………. is a greenhouse gas that is made from landfill sites . 
a. Oxygen                  b. Methane              c. Carbon               d. Hydrogen 

3- The energy we got from the sun is called ………….. . 
a. fossil fuel               b. solar energy         c. carbon dioxide        d. methane 

4- ……….. energy is clean energy from the sun , water or wind . 
a. Non-renewable       b. Renewable           c. Polluting                 d. Polluted 

5- ……… makes air , water , soil etc. dangerously dirty and not suitable  

a. Cultivation              b. Deforestation        c. Pollution             d. Population 

6- We add the prefix ……… to the word (cycle) to mean use something . 
a. im-                           b. un-                       c. re-                      d. dis- 

7- My cotton jacket absorbs water from rain . (Absorb) here is like ……  
a. takes in                    b. turns on                c. throws away      d. puts into 

8- We can get an adjective from the verb (renew) by adding ………… . 
a. –ness                        b. –able                     c. –tion                 d. -y 

9- They tried to solve the problem . They tried to find a …………… . 
a. solution                    b. mistake                 c. voyage             d. wave 

10- …………… happens when all the trees in an area are cut down . 
a. Farming                  b. Deforestation         c. Climate            d. Melting ice 
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